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(w rsEr-c:N * FrdA d sc{ f<q rS fa1ift6 p6a qt 3ilm fi{sqifi frfqqt)

Note | - Answers may"be written either n English or in Hindl but the same medium should

. be used throughout the PaPer.

ftlqufr :-Fq vFl-st sI s{t eiffi qt f6fi ffi qs lnsl t {fqq; crc qfr Edt

6r qruTq qfr fr t{ qGqr

Answer any fve questions.

l// questions carry equal marks.

ffi qih vsn * Ed{ <rffir

(S erfr + si*' qqn tr
l. (a) Describe the m4ior macroeconomic issues in an economy. How are such issues ad&essed

by the policymaker ? g

ffi or*q{rqr + qqfu_eldvnq + ts g{ 6r qfi qfifusr E{ gd q1frfr

frqiar gm f+q e-+'R ridftla f6ct qrdr t ?
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(b) The following specifications about an economy are given :

C : 50 crore + 0.75 Yd Yd:Y_T

I : 50 crore

G = 130 crore

T : 100 crore

Calculate

(1) The equilibrium level of income and mnsumption.

(2) The proportion of national income collected by the Gorrt. as taxes.

go u*+*vr * Frqtdfu( slffi3 sqcer.t :

sqfrq = 50 si-g + o.7s Yd Yd=Y-T

fttvr = so wt-g

qranrfr qq - 130 6.tE

q{ - 1oo 4-G

en+'sq q1fuq :

(l) em si 3csilfr s.r rigo+ mr
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(3) IUrs' q-r {s I

(3) The valrrc of multiplier.
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2. What do you understand by national income ?

(a) Explain the various methods of esfimating national income in an economy.

(b) Differentiate between :

(1) Actual GDP and Potential GDP

(2) Nominal National lncome and Real National lncome. 10,5

{r$q qrq i 3nq RI scqt t ?

(a) ffi qtrqq{vt d rt$q 3nq qrqi d Anr< frft{ql 6I qotr dfsql

(b) ts q-flEq :

(l) qrRkd- GDP irqr riqt+a cop

(z) *tf*- nqc arq qi qr<f{*- {r$q 3{rql

3. (a) What is meant by multiplia ? Explain the working of multiplier using suitable diagrams

and example. 9

gur+ er t Z U"r* vtm'qr qt 3cgffi T(r6rq dql fqf, aI(I qr@r B1frqr

(b) For the comsumption fi.rnction :

C=10+0.85y

(1) Derive the corresponding saving function.

P.T.O.
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(2) Find the level of income where saving becomes zero.

(3) The value of MPC and MPS.

qft wqlr tn-5a fisfuls6 fr ;

C=10+0.85Y

fr emol qlfqq :

(l) Es iFr .rE?T qitrq I

@ elr{r i5r ER q-tt e-ca {Iq tr

(3) frqr< Bq$rr n-{i{ G *tqrd qq( u-gft m qw r

4. (a) What is invesnent fi-urction ? How do changes in rcal inier€st rate influence the investnert

expenditure ? 9

f+in qet t eTrc Hr qwe t : qr<fu+- qrq <t t qFsft ai t f{+{r qq

i kq !-fiR T(ere qkil t, vqgea r

(b) Differentiate between :

(, Nominal interest rate and real interest rate

6

6(rr) Planned investnent and unplanned investment.


